
Auction Liquidation Services 
PO Box 1216                                           

Eatontown, NJ 07724 
1-800-563-9740 

www.auctionlistservices.com 
 
Lot Description                Lot       Description   
---------------------------------------------------------------------------------------------------------------------------------- 
01 Carburetor tools. Power valves, jets, 

assorted carburetor parts in carrying case 
02 Innovate air-fuel ratio data logger with 

oxygen sensors 
03 Roush engine wide open shut down with 

vacuum sensor and brake sensor 
04 Floor jack  
05 Floor jack 
100 2ea. 8” Air Buffer 
101 1 ea. ½” electric impact IR wrench 
102 1 ea. ½” electric impact IR wrench  
103 1 ea. Air angle grinder, 1 air straight die 

grinder, 1 air belt grinder 
104 1 ea. Snap on ½” electric impact wrench 
105 1 ea. Dewalt ½” electric impact wrench 
106 2 ea. Air 3” cut off tool, 1 ea. 3” Air angle 

cut off tool. 
107 2 ea. Air angle grinder ¼”, 1ea. Air belt 

grinder 6”. 
108 1 air operated Pop Rivit tool  
109 1 ea. IR ½” drive air impact wrench, 1 IR 

½” drive air ratchet, 1 IR 3/8” drive air 
butterfly ratchet 

110 1 IR 3/8” air drill, 1 IR air saw 
111 2 Oil filter strap wrench, 1 adjustable oil 

filter wrench, 1 grease gun 
112 2 Busch electric hand sheers 
113 2  air DA sanders 6”  
114 1 air angle grinder, 1 air angle drill 3/8”,1 

3/8” air drill 
115 1 air grinder, 1 die grinder, 1 air saw 
116 2 air nibbler 
117 2 air chisels with assorted chisels  
118 1IR angle grinder, 1 air saw 
119 1 DA sander 6”, 1 air cut off tool, 1 air 

angle die grider 
120 1 ¼” die grinder, 1 air saw 
121 1 ¼” die grinder, 1 air saw 
122 1 3/8” Makita electric drill, 1 3/8” angle 

electric drill  

123 1 ¼” air die grinder, 1 air saw, 1 air 
grinder 

124 1 3/8” Makita electric drill, 1 Porter Cable 
router 

125 2 air inline sanders, 1 air grinder 
126 2 6” DA sanders 
127 1 air saw, 1 air belt grinder 
128 1 IR “New” straight line air sander   
129 1 air DA Sander 8”, 1 air carbide saw, 1air 

grinder 
130 2 DA sanders 6” 
131 1 7 ¼” Milwaukee circular saw, 1 

Milwaukee Sawzall, assorted Sawzall 
blades  

132 2 straight line air sanders  
133 1 IR inline air sander, 1 National Detroit 

inline sander  
134 1 Crud Thug plus spare wheel  
135 Assorted Sure Form files  
136 1 IR air chisel with assorted chisels, 1 3/8” 

air drill  
137 2 3/8” air drills, air grinder  
138 Assorted long board sanders  
139 Assorted plastic funnel and oil transfer  
140 Belt tension gauge, alternator tool, battery 

terminal pliers, radiator fin tool, wire 
crimpers, feelers, inspection mirror, mag. 
Wand, spark plug tool 

141 2 hand staplers Arrow T-50, assorted 
staples, hot glue gun w/ glue sticks  

142 Speery digital multi meter 
143 Rotary power tool, electric engraver, wire, 

brushes assorted  
144 2 heat guns  
145 Assorted ball joint sockets, assorted pickle 

fork  
146 Air operated grease gun, oil transfer  
147 2 U joint presses 
148 ½ ” Milwaukee electric drill, 1 Makita jig 

saw 

 1

http://www.auctionlistservices.com/


 
 

Auction Liquidation Services 
PO Box 1216  

Eatontown, NJ 07724 
1-800-563-9740 

www.auctionlistservices.com 
 
 
Item Description              Item     Description 
-----------------------------------------------------------------------------------------------------------------------------
   
149 Makita 5” disc grinder, Kett electric sheer 
150 B&D ½” electric drill 
151 Battery load tester, 4 ea battery 

hydrometers, 2 Multi meters 
152 Assorted vise grips 4-6” 
153 7.2 V Makita 3/8” cordless drill, 3/8” 

angle drill, charger, spare battery 
154 7.2V Makita 3/8” cordless drill, flash light, 

charger , spare battery 
155 2-9.6V Makita 3/8” cordless drill, charger, 

4 spare battery 
156 Soldering gun kit, solder iron with stand 
157 Assorted Ball Peen Hammers  
158 Assorted Ball Peen Hammers  
159 Assorted Ball Peen Hammers  
160 Assorted pipe wrenches  
161 Assorted channel locks 
162 Assorted adjustable wrenches  
163 Assorted slip joint pliers  
164 Assorted snap ring pliers  
165 Assorted screw drivers  
166 Assorted tin snips  
167 Assorted Tin Snips 
168 Assorted Hack saw frames and blades 
169 Set brake bias gauge, brake heat paint kit 
170 Snap on cylinder leak detector  
171 Snap on cylinder leak detector  
172 Snap on cooling system pressure tester  
173 Mac cooling system pressure tester  
174 Makita jig saw 
175 Stant cooling system pressure tester  
176 Mac timing light  
177 Snap on timing light 
178 Deleted 

179 Snap on 18V ½” cordless impact wrench 
with charger and battery 

180 Snap on 18V ½” cordless impact  wrench 
with charger and battery 

181 Ryobi 14.4V 3/8” cordless drill kit  
182 Ryobi 18V ½” cordless drill kit  
183 Dewalt 1 ½” HP heavy duty router 
184 Ryobi 14.4V 3/8” cordless drill kit  
185 Ryobi 14.4V 3/8” cordless drill kit  
186 Ryobi 14.4V 3/8” cordless drill kit 
187 Blue Pt. brake equalizer  
188 Black Hawk Porto-power 
189 20 ton air jack 
190 Alemite air operated gear oil pump 
191 10 ton Porto-power with equipment 
192 10 ton Porto power with equipment 
193 Greenlee #777 bender 1 ¼” to  4”, 1 ea. 

Enerpac Pump 
194 Kent Moore fuel injection kit with 

cleaning tanks 
195 Milwaukee heavy duty magnetic drill 

press 
196 Assorted “C” clamps  
197 Assorted Vise Grips  
198 Assorted Files (mill, rat, flat) 
199 Pipe Vise  
200 Sioux cylinder head work center model 

1640 
201 Serdi 2.0 systems seat & guide – valve job 

& cylinder head model 126, 2.0 
202 Dayton grinder with stand 
203 Super Flow 300- carburetor & cylinder 

flow bench 
204 Sunnen CV616 vertical cylinder hone 

 2

http://www.auctionlistservices.com/


Auction Liquidation Services 
PO Box 1216  

Eatontown, NJ 07724 
1-800-563-9740 

www.auctionlistservices.com 
 

Item Description             Item      Description 
--------------------------------------------------------------------------------------------------------------------------------- 
205 Sioux model 2075 valve grinder 
206 Sunnen power stroke rod hone  
207 Wall cabinet  
208 Wall cabinet  
209 Wall cabinet  
210 Sunnen cabinet, floor model with tooling 

for rod hone  
211 Work bench – wood top 
212 Work bench – wood top  
213 Metal rolling cart, 3 shelf with contents 
214 Sun ET5001 Dist. Machine 
215 Gide hone tank 
216 Axe wash tank 
217 Steel work bench w/ wood top & 2 vises 
218 Steel work bench  
219 Snap on grinder with stand 
220 Steel work Bench 
221 Steel Anvil 
222 Sheet metal roller 
223 Steel surface plate & jigs 
224 Federal Brake  
225 Scotchman Sheer & Punch 
226 Wall cabinet & contents  
227 Enco drill press 
228 Floor cabinet with contents – drill bits, 

jigs, hole saws, etc.  
229 Connecticut Brake 
230 Dayton wheel grinder  
231 Elephant disc sander 
232 Delta belt sander  
233 Dayton belt sander 
234 Pexto sheet metal sheer  
235 Steel welding table – work area  
236 Proformer metal brake 
237 Doall band saw 
238 Mittler tubing notcher 
239 Shop Outfit tubing bender 

240 12’ work table with storage with contents: 
sheet steel & aluminum 

241 Bridgeport Mill 
242 Dayton grinder  with stand 
243 Band saw  
244 Clausing drill press 
245 Boyar-Schultz grinder – surface grinder 

with dust collector 
246 South Bend metal lathe and tooling  
247 Graymills Tempest 
248 Craftsman lathe 
249 (2) Wall cabinet w/ complete contents – 

tooling for Bridgeport #241 
250 DeVilBiss paint booth  with Clean Air 

filter system, Fire Suspression System. 
Painters Fresh Air System and Ramps  

250A  DeVilBiss Air Comressor model 236 RPM 
900 

250B Speedaire Refrigerated air Dryer 3-IN-1 
251 Zero Blast-N-Peen Sand Blaster  
252 Towmotor fork truck  
253 Magnaflux machine 
254 Snap on puller set  
254A Box lot- HeliCoil Master Thread repair kit 

#4936, HeliCoil Bits & Screw thread 
inserts 

254B HeliCoil Master thread repair kit #4934, 
Recoil thread repair kit & #8 thread inserts  

254C HeliCoil master thread repair kit #4936, 
HeliCoil thread inserts  

254D Box lot assorted HeliCoil thread inserts 
255 Famco with stand 
255A HeliCoil sparkplug repair kit, Sav-aThread 

sparkplug hole thread repair inserts 
255B  HeliCoil master thread repair kits (1) ¼ - 

18 (1) 1/8 – 27 
255C HeliCoil master thread repair kits (1) 3/8 – 

18 NPT, (1) ½ - 14NPT 

 3

http://www.auctionlistservices.com/


Auction Liquidation Services 
PO Box 1216  

Eatontown, NJ 07724 
1-800-563-9740 

www.auctionlistservices.com 
 

Item   Description               Item     Description 
----------------------------------------------------------------------------------------------------------------------------------
255D Time-Sert spark plug and thread repair 

kits, assorted thread inserts 
255E Heli/coil master metric thread repair kit, 

(2) Screwlock twinsert kits 5/16 – 18, (3) 
Screwloc twinsert kits 3/8 -16 

256 Dake 25 ton hydraulic press 
256A Jig for squaring rear ends and gauge 
256B (2) Drive shaft Inclinometers, Run out 

fixture w/V blocks – 40” LOA 
257 Steel work bench with wood top 
258 Steel work bench with wood top and vise 
259 2 wall cabinets no contents  
260 Steel work bench  
261 Steel work bench 
262 Dayton Speedaire air compressor model 

3Z412 
263 DeVilBiss air compressor model 445  
264 Profile clothes dryer 
265 Profile clothes washer 
266 (peg board hanging) bolt cutter, wood 

hand saws, conduit benders 
267 (peg board hanging) Framing squares, 

mech. Rules 
267A (peg board hanging) 3 Crow bars, 3 sledge 

hammers  
268 (peg board hanging) Levels  
269 Pipe threaded, bar clamps pipe dies, pipe 

cutter 
270 Coats 40/40 SA tire machine 
271 Floor jack  
272 Dayton pallet jack  
273 Micro wheel balancer 
274 Dayton exhaust window fan, complete like 

new 
275 Dayton floor fan  
276 Dayton floor fan  
277 Dayton floor fan 
278 Dayton floor fan 

279 Dayton floor fan 
280 Dayton floor fan  
281 Fork lift bucket (Man Lift) 
282 Shop cabinet w/ 7 drawers & vise 
283 Shop cabinet w/ 7 drawers – no contents  
283A Drawer of sockets and extensions  
283B Drawer of Sockets, Wrenches, Speed 

Wrenches 
283C Drawer of Assorted Wrenches 
283D Drawer of Assorted Wrenches   
283E Drawer of Locks, Hex Keys, Holders, etc.  
284 Utility cart on wheels (holds 4 floor jacks) 
285 Engine run stand 
286 Engine hoist 
287 Floor shop cabinet with welding rods & 

welding supplies 
288 Hand bend hp - 220 press brake 10” 
289 Williams low buck bench brake 
290 Atlas model 100 positioner, electric 
291 Battery holder w/4 batteries, AC Delco, 

etc. 
292 2 Slide hammers 
293 2 pry bars xxx large  
294 Pexto bead roller (manuel) 
295 Magna bend/brake 50”  
296 6 plastic 3 gallon water containers 
297 2 digital smart levels, 2 dial calipers, 

torpedo level  
298 Flair punch set, Starret hole saw kit  
299 Chassis punches (sets) 
300 Honda generator EM3500 SX 
301 Oil pump, flushing Dry sump system with 

hardware 
302 MB machine and tool bead roller with 

tooling – electrical  
303 Miller plasma cutter with auto gas cutting 

machine  
304 Lincoln electric SP-175 MIG welder  

 4

http://www.auctionlistservices.com/


Auction Liquidation Services 
PO Box 1216  

Eatontown, NJ 07724 
1-800-563-9740 

www.auctionlistservices.com 
 

Item   Description               Item     Description 
--------------------------------------------------------------------------------------------------------------------------------
305 Smith portable air compressor  
306 Linde Heliarc welder 
307 Airco 200 amp MIG welder 
308 Miller spot welder 
309 Makita cut off wheel  
310 Scotchman cold saw  
311 Floor Creepers on rack  
312 Assorted tow chains in wooden case on 

wheels  
313 Assorted tow straps in wooden case on 

wheels 
314 Dayton portable air compressor  
315 Chain falls electric hoist, Dayton 300 lbs 

on cart 
316 Miller 185 MIG welder  
317 Associated 600 amp battery charger 
318 Hassfeld pipe bender – hydraulic  
319 Lincoln 205 invertec TIG welder  
320 Dayton 6” bench grinder with stand  
321 Welding bench 6’ x 2’ steel  
322 Dayton horizontal band saw  
323 Craftsman dual range 230 amp welder 
324 Bullet heater – oil fired  
325 Dayton oil fired bullet heater  110,000 

BTU 
326 Wall rack 20’ 
326A Contents on rack, aluminum, steel, angle, 

tubes, flat 
327 Pallet rack – steel 20’ long 10’ high 
328 4 Western scales 
329 Delta drill press 110 volt  
330 Double steel pallet cart with wheels  
331 AeroQuip braided S/S – 12 hose 
332 AeroQuip braided S/S – 12 hose 
333 AeroQuip braided S/S – 12 hose 
334 AeroQuip braided S/S – 4 hose 
335 AeroQuip braided S/S – 3 hose 
336 AeroQuip braided S/S – 6 hose 

337 AeroQuip braided S/S – 12 hose 
338 AeroQuip braided S/S – 10 hose 
339 AeroQuip braided S/S – 8 hose 
340 AeroQuip braided S/S – 8 hose 
341 AeroQuip braided S/S – 8 hose 
342 AeroQuip braided S/S – 16 hose 
343 AeroQuip fire sleeve Orange 18 20 mixed 

length 
344 AeroQuip fire sleeve Orange 14 16 30 

mixed lengths  
345 AeroQuip fire sleeve Orange 12 07 mixed 

lengths  
346 AeroQuip fire sleeve Orange 09 mixed
 lengths  
347 AeroQuip 16 start lite pre assembled with 

fire sleeve  
348 AeroQuip -12 start lite pre assembled 

mixed 
349 AeroQuip -10 start lite pre assembled 

mixed 
350 AeroQuip -8  start lite pre assembled 

mixed 
351 AeroQuip -4 start lite pre assembled 

mixed 
352 AeroQuip S/S braided – 16 pre assembled 

with fire sleeve mixed lengths 
352A AeroQuip S/S braided – 16 pre assembled 

with fire sleeve mixed lengths 
353 AeroQuip S/S braided – 12 pre assembled 

with fire sleeve/ without fire sleeve mixed 
lengths 

354 AeroQuip S/S braided – 8 pre assembled 
with fire sleeve/ without fire sleeve mixed 
lengths 

355 AeroQuip – 4 start lite braded S/S  pre 
assemble mixed lengths  

356 AeroQuip – 3 S/S braded pre assemble 
hose 

 5

http://www.auctionlistservices.com/


 
 

Auction Liquidation Services 
PO Box 1216  

Eatontown, NJ 07724 
1-800-563-9740 

www.auctionlistservices.com 
 

Item   Description               Item     Description 
---------------------------------------------------------------------------------------------------------------------------------
357 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, NEW 4/ea 
358 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, NEW 4/ea 
359 Aero 15” x 9 ½ Racing Wheels, 5 on 5  

center, 5/8 stud, NEW 4/ea 
360 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, NEW 4/ea 
361 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, NEW 4/ea 
362 Two tier tire/wheel rack  
363 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
364 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
365 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
366 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
367 Two tier tire/wheel rack 
368 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
369 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
370 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
371 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
372 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
373 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
374 Two tier tire/ wheel rack  
375 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  

376 Aero 15” x 9 ½ Racing Wheels, 5 on 5 
center, 5/8 stud, 4 used  

377 Aero 15” x 9 ½ Racing Wheels, 5 on 5 
center, 5/8 stud, 4 used  

378 Aero 15” x 9 ½ Racing Wheels, 5 on 5 
center, 5/8 stud, 4 used  

379 Aero 15” x 9 ½ Racing Wheels, 5 on 5 
center, 5/8 stud, 4 used  

380 Aero 15” x 9 ½ Racing Wheels, 5 on 5 
center, 5/8 stud, 4 used  

381 Two tier tire/ wheel rack 
382 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
383 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
384 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
385 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
386 Two tier tire/ wheel rack  
387 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
388 1Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
389 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
390 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
391 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
392 Aero 15” x 9 ½ Racing Wheels, 5 on 5 

center, 5/8 stud, 4 used  
393 Two tier tire/wheel rack  
394 Floor rack with misc. metal  
395 Engine Stand 
396 Engine Stand 

 6

http://www.auctionlistservices.com/


  
 
 Auction Liquidation Services 

PO Box 1216  
Eatontown, NJ 07724 

1-800-563-9740 
www.auctionlistservices.com 

 
 
Item Description      Item Description 
-------------------------------------------------------------------------------------------------------------------------------
397 Engine Stand 
398 Engine Stand 
398A Engine Stand 
399 Piston rings/used pistons/ new coated 

piston – 3 shelves  
400 Engine bearings/ rod bearing/main 

bearing, mixed etc. – 5 shelves  
401 Push rods/ rocker arms/ valve springs and 

retainers mixed – 5 shelves 
402 Covers – valve/ timing – expansion plugs, 

timing chains – 6 shelves  
403 Belts – fan/pulleys/ dry sump oil pump 

parts – 6 shelves  
404 Gaskets head/ seals mixed -  6 shelves 
405 Piston Mopar, vibration dampers/ main 

bearings/ caps and studs – 6 shelves 
406 Mopar valve cover, water pumps, timing 

chains – 6 shelves 
407 Mopar distributor caps, spark plug wires/ 

Chevy starters MSD ignition – 6 shelves 
408 Mixed lot – spark plugs, wires, distributor 

caps, ignition parts – 6 shelves 
409 Battery cables accessories/ auto meter 

gauges/ starter parts/ in-line fuses – 6 
shelves  

410 Carb repair parts, fuel pressure – 5 shelves 
410A Assorted clutch parts – 2 shelf  
411 Assorted in-line blowers/ duct – 6 shelves 
412 Assorted Hella lights/ switch box/ relays/ 

windshield wiper, motors – 4 shelves 
413 Trailer repair parts and lights, hitch, tow 

balls – 5 shelves  
414 Misc. castors, rollers, wheel tires – 4 

shelves 
415 Air cleaners/ filters – 6 shelves 

416 CB radio- CB radio equipment, antenna’s 
417 4 ea. Jack stands 
418 4 ea. Jack stands 
419 4 ea. Jack stands 
420 4 ea. Jack stands 
421 3 ea. Jack stands 
422 Cabinet with mixed wire and connectors 
423 Misc. Fabricated parts – 6 shelves  
424 Misc. Fabricated parts – 6 shelves 
425 Misc. Fabricated parts – 6 shelves 
426 Misc. Fabricated parts – 6 shelves 
427 Nuts & Bolts, Washers – course & fine 
428 Nuts & Bolts, Washers – course & fine 
429 Nuts & Bolts, Washers – course & fine 
430 Nuts & Bolts, Washers – course & fine 
431 Nuts & Bolts, Washers – course & fine 
432 Nuts & Bolts, Washers – course & fine 
433 Nuts & Bolts, Washers – course & fine 
434 Cabinet with contents, mixed Cam 

Loc/Studs/Receptacles/Roll Pins/Caps 
/Plugs/Washers 

435 Cabinet with contents assorted anchor 
nuts, tools 

436 Cabinet with contents assorted nuts & 
bolts 

437 Open Cabinet with assorted cap screws, 
nuts, washer, bolts 

438 Open Cabinet with assorted cap screws, 
nuts, washer, bolts 

439 Open Cabinet with assorted cap screws, 
nuts, washer, bolts 

440 Open Cabinet with assorted machine 
Screws, nuts 

 

 7

http://www.auctionlistservices.com/


Auction Liquidation Services 
PO Box 1216  

Eatontown, NJ 07724 
1-800-563-9740 

www.auctionlistservices.com 
 
 
Item Description      Item Description 
-------------------------------------------------------------------------------------------------------------------------------
441  Open Cabinet –assorted grommets, cotter 

pins, nut plates, adel clamp, bottom of 
cabinet is empty 

442 Open Cabinet with assorted pop rivets, 
Dzus fasteners bottom cabinet empty 

443 Misc Fabrication parts – 6 shelves 
444 (2) Dash board misc. fabrication parts 
445 Misc Fabrication parts – 6 shelves 
446 Lead Boxes and 500 lbs of lead blocks  
447 Rolling cabinet with contents, nuts, bolts, 

washers, pop rivets 
448 Rolling cabinet with contents AN Caps 

and plugs, plastic, Steel aluminum 
449 Steel Mezzanine With Steps  
449A 2000 “Swamp Cooler” Port-A-Cool 
450 Spring kit #1 Front/ Rear (see description 

attached) 
451 Spring kit #2 Front/ Rear(see description 

attached) 
452 Spring kit #3 Front/ Rear(see description 

attached) 
453 Spring kit #4 Front/ Rear(see description 

attached) 
454 Spring kit #5 Front/ Rear(see description 

attached)  
455 Spring kit #6 Front/ Rear(see description 

attached) 
456 Spring kit #7 Front/ Rear(see description 

attached) 
457 Spring kit #8 Front/ Rear(see description 

attached) 
458 Spring kit #9 Front/ Rear(see description 

attached) 
459 Spring kit #10 Front/ Rear(see description 

attached) 
460 Spring kit #11 Front/ Rear(see description 

attached) 

461 Spring kit #12 Front/ Rear(see description 
attached) 

462 Spring kit #13 Front/ Rear(see description 
attached) 

463 (4)Right side Trailing arms  
463A Pair Left & Right Trailing Arms  
463B Pair Left & Right Trailing Arms 
463C Pair Left & Right Trailing Arms 
463D Pair Left & Right Trailing Arms 
464 Mixed lot springs, upper control arm 

spacer, jack screens, bird cages spring 
rubbers, U bolts 

465 Misc. Sway Bars Arms & Bushings (see 
description attached) 

466 Sway Bars/Arms/Bushing Kit #1 (see 
description attached) 

467 Sway Bars/Arms/Bushing Kit #3 (see 
description attached) 

468 Sway Bars/Arms/Bushing Kit #5 (see 
description attached) 

469 Sway Bars/Arms/Bushing Kit #7 (see 
description attached) 

470 Sway Bars/Arms/Bushing Kit #9 (see 
description attached) 

471 Sway Bars/Arms/Bushing Kit #11 (see 
description attached) 

472 Sway Bars/Arms/Bushing Kit #13 (see 
description attached) 

473 Sway Bars/Arms/Bushing Kit #15 (see 
description attached) 

474 Sway Bars/Arms/Bushing Kit #17 (see 
description attached) 

475 Sway Bars/Arms/Bushing Kit #2 (see 
description attached) 

476 Sway Bars/Arms/Bushing Kit #4 (see 
description attached) 

 

 8

http://www.auctionlistservices.com/


Auction Liquidation Services 
PO Box 1216  

Eatontown, NJ 07724 
1-800-563-9740 

www.auctionlistservices.com 
 
 
Item Description      Item Description 
-------------------------------------------------------------------------------------------------------------------------------
477 Sway Bars/Arms/Bushing Kit #6 (see 

description attached) 
478 Sway Bars/Arms/Bushing Kit #8 (see 

description attached) 
479 Sway Bars/Arms/Bushing Kit #10 (see 

description attached) 
480 Sway Bars/Arms/Bushing Kit #12 (see 

description attached) 
481 Sway Bars/Arms/Bushing Kit #14 (see 

description attached) 
482 Sway Bars/Arms/Bushing Kit #16 (see 

description attached) 
483 Sway Bars/Arms/Bushing Kit #18 (see 

description attached) 
484 Assorted Penske Racing shock rebuild 

parts 
485 (4) Penske Rack Shocks externally 

adjustable 
486 (4) Penske Rack Shocks NOT externally 

adjustable 
486A (4) Penske Rack Shocks NOT externally 

adjustable 
486B (4) Penske Rack Shocks NOT externally 

adjustable 
486C (4) Penske Rack Shocks NOT externally 

adjustable 
486D (5) Penske Rack Shocks NOT externally 

adjustable 
487 Mixed Steering column parts 2 shelves 
488 Mixed steering linkage tie rod ends 2 

shelves  
489 Mixed steering, P/S pump. Res tank, sway 

bar links, ball joints, 3 shelves 
490 Camber kits, ball joints – 2 shelves 
491  ball joints, eccentric slug, monoballs – 1 

shelf  

492  Mixed steering arms, hub cap hardware, 
wheel spacers 

493 2 Steering arms and hub assembly left and 
right 

493A 2 Steering arms and hub assembly left and 
right 

493B 2 Steering arms and hub assembly left and 
right 

494 2 Steering arms and hub assembly 
complete with caliper mounting brackets 

494A 2 Steering arm and hub assembly 
495  Corvette Spindle late 70’s Left & Right 
496 Lower Conttrol arms, assorted panhard 

rod, spacers, heim 
497 Rear Sway bars with arms, links, mounts 

¾” Kit #4 (see description attached) 
497A Rear Sway bars with arms, links, mounts 

¾” Kit #3 (see description attached)  
497B Rear Sway bars with arms, links, mounts 

¾” Kit #2 (see description attached) 
497C Rear Sway bars with arms, links, mounts 

¾” Kit #1 (see description attached) 
498 (4) Rear Sway bars 400/450/600/1000 (see 

description attached) 
498A (4) Rear Sway bars 400/450/600/1000 (see 

description attached) 
498B Rear Sway with arms, links, mounts ¾ kit 

#5 (see description attached) 
499 Mixed panhard bar adjusting screws and 

hardware 
1001 Carburetor – 350 cfm Holley 2 barrel 
1002 Carburetor – 350 cfm Holley 2 barrel 
1003 Carburetor – 350 cfm Holley 2 barrel 
1004 Carburetor – 350 cfm Holley 2 barrel 
1005 Carburetor – 350 cfm Holley 2 barrel 
1006 Carburetor – 350 cfm Holley 2 barrel 
1007 Carburetor – 350 cfm Holley 2 barrel 

 9

http://www.auctionlistservices.com/


Auction Liquidation Services 
PO Box 1216  

Eatontown, NJ 07724 
1-800-563-9740 

www.auctionlistservices.com 
 

Item   Description               Item     Description 
----------------------------------------------------------------------------------------------------------------------------------
1008 Carburetor – 350 cfm Holley 2 barrel 
1009 Carburetor - 390 cfm BG/Demon 4 barrel 
1010 Carburetor - 390 cfm BG/Demon 4 barrel 
1011 Carburetor - 390 cfm BG/Demon 4 barrel 
1012 Carburetor - 390 cfm BG/Demon 4 barrel 
1013 Carburetor – 390 cfm + 3 BG/Demon 4 

barrel 
1014 Carburetor – 390 cfm + 3 BG/Demon 4 

barrel  
1015 Carburetor – 390 cfm + 3 BG/Demon 4 

barrel  
1016 Carburetor – 390 cfm Holley 4 barrel 
1017 Carburetor – 390 cfm Holley 4 barrel 
1018 Carburetor – 390 cfm Holley 4 barrel 
1019 Carburetor – 675 cfm Demon 4 barrel 
1020 Carburetor – 675 cfm Demon 4 barrel 
1021 Carburetor – 675 cfm Demon 4 barrel 
1022 Carburetor – 675 cfm Demon 4 barrel 
1023 Carburetor – 675 cfm Demon 4 barrel 
1024 Carburetor – 675 cfm Demon 4 barrel 
1025 Carburetor – 675 cfm Demon 4 barrel 
1026 Carburetor – 675 cfm Demon 4 barrel 
1027 Carburetor – 675 cfm Demon 4 barrel 
1028 Carburetor – 675 cfm Demon 4 barrel 
1029 Carburetor – 675 cfm Demon 4 barrel 
1030 Carburetor – 675 cfm Demon 4 barrel 
1031 Carburetor – 675 cfm Demon 4 barrel 
1032 Carburetor – 675 cfm Demon 4 barrel 
1033 Carburetor – 675 cfm Demon 4 barrel 
1034 Carburetor – 675 cfm Demon 4 barrel 
1035 Carburetor – 675 cfm Demon 4 barrel 
1036 Carburetor – 675 cfm Demon 4 barrel 
1037 Carburetor – 675 cfm Demon 4 barrel 
1038 Carburetor – 675 cfm Demon 4 barrel 
1039 Carburetor – 675 cfm Demon 4 barrel 
1040 Carburetor – 675 cfm Demon 4 barrel 
1041 Carburetor – 675 cfm Demon 4 barrel 

1042 Deleted 
1043 Carburetor – 350 cfm 2 barrel 
1044 Alcon caliper front/rear, carbon rotor front 

& rear, steel rotor front and rear complete 
1045 Alcon caliper front/rear, carbon rotor front 

& rear, steel rotor front and rear complete 
1046 Alcon caliper front/rear, carbon rotor front 

& rear, steel rotor front and rear complete 
1047 Alcon caliper front/rear, carbon rotor front 

& rear, steel rotor front and rear complete 
1048 5 steel brake rotors with hats  
1049 Alcon caliper front/rear, carbon rotor front 

& rear, steel rotor front and rear complete 
1050 Alcon carbon front and rear caliper, front 

and rear carbon rotors with hats  
1051 Alcon carbon front and rear caliper, front 

and rear carbon rotors with hats  
1052 14 ea. Carbon Rotors front with 4 hats 
1053 30 ea. Carbon Rotors rear with 14 hats 
1054 Alcon calipers front 9, rear 1 
1055 Alcon calipers, 2 front, 2 rear carbon 

rotors with hats 
1056 Alcon calipers, 2 fronts, 2 rear carbon 

rotors with hats, front and rear steel rotors 
with hardware. 

1057 Alcon calipers, 2 fronts, 2 rear carbon 
rotors with hats, front and rear steel rotors 
with hardware. 

1058 Alcon calipers, 2 fronts, 2 rear carbon 
rotors with hats, front and rear steel rotors 
with hardware. 

1059 Alcon calipers, 2 fronts, 2 rear carbon 
rotors with hats, front and rear steel rotors 
with hardware. 

1060 Alcon calipers, 2 fronts, 2 rear carbon 
rotors with hats, front and rear steel rotors 
with hardware. 

 

 10

http://www.auctionlistservices.com/


Auction Liquidation Services 
PO Box 1216  

Eatontown, NJ 07724 
1-800-563-9740 

www.auctionlistservices.com 
 

Item   Description               Item     Description 
----------------------------------------------------------------------------------------------------------------------------------
1061 Carbon Ind. Mounting plates, 1 lot carbon 

late model carbon brake rotors & 
mounting hardware  

1062 Alcon  carbon brake pads 41 ea. Used, 52 
ea. Rear, assorted Alcon mounting 
hardware 

1063 Champ air filter AF212 – 32 cases  
1064 Dayco defroster hose 3” x 5 (45ea.) 4” x 5 

(11 ea)  
1065 Race flex hose 4”x12 – 6 boxes  
1066 Race flex hose 3” x 12 – 3 boxes & misc 

hoses  
1067 Fuel cell cans for 35 gallon fuel – 3 each  
1068 35 gallon fuel cell bladder ATL – 6 ea.  
1069 8 used aluminum drive shaft  
1070 21 new Spicer aluminum drive shaft  
1071 Assorted engine cradles – approx. 12 ea 
1072 4 Mag wheels – cast aluminum 
1073 35 gallon ATL fuel cell assembly 
1073A 35 gallon ATL fuel cell assembly 
1074 Bassett 15” race wheel with Goodyear 

slick tire – used 
1075 Bassett 15” race wheel with Goodyear 

slick tire – new  
1076 Bassett 15” race wheel with Goodyear 

slick tire – new  
1077 Bassett 15” show car wheel with 

Goodyear tire slick – new 
1078 Bassett 15” show car wheel with 

Goodyear tire slick – new 
1079 Aero show car rim with Goodyear tire 

slick – new  
1080 Aero show car rim with Goodyear tire 

slick – new  
1081 Aero show car rim with Goodyear tire 

slick – new  
1082 Aero show car rim with Goodyear tire 

slick – new  

1083 Goodyear used race wheel and tire (old) 
1084 Goodyear used race wheel and tire (old) 
1085 Goodyear used race wheel and tire (old) 
1086 Goodyear used race wheel and tire (old) 
1087 13 ea. 15” x 9.5 Aero race rims, 5 on 5 

center, 5/8 stud  
1088 Used Mopar exhaust header set, left & 

right Stahl bolt pattern  
1089 2 ea. Left hand used headers for Mopar 

Stahl bolt pattern  
1090 Set used headers Chevy – Stahl bolt 

pattern 
1091 Set used headers Chevy – Stahl bolt 

pattern 
1092 Set used headers Chevy – Stahl bolt 

pattern 
1093 4 left side used headers, small block 

Chevy, Stahl bolt pattern 
1094 New s/s set small block Chevy, Stahl bolt 

pattern  
1095 Used s/s set small block Chevy, Stahl bolt 

pattern  
1096 New headers small block Chevy, Stahl 

bolt pattern  
1097 1 used left side Mopar header  
1098 Lot Dr. Gas 3” x 90 degree exhaust elbow  
1099 Lot Dr. Gas 3” x 15 degree elbows short  
1100 Lot Dr. Gas cross over assembly  
1101 6 ea. Super Trapp muffler    
1102 Dr. Gas 15 degree elbow 3” long  
1103 Dr. Gas cross over center section 3” 
1104 Dr. Gas tail pipe assembly  
1105 Misc exhaust collection assemblies  
1106 Assorted exhaust & tubing,3-90 degree, 3-

45 degree, 3-20 degree, etc  
1107 Mopar engine block – x-block 8 cylinder  
1108 Chevy main 8 cylinder 

 11

http://www.auctionlistservices.com/


 
Auction Liquidation Services 

PO Box 1216  
Eatontown, NJ 07724 

1-800-563-9740 
www.auctionlistservices.com 

 
Item   Description               Item     Description 
----------------------------------------------------------------------------------------------------------------------------------
1109 New GM Performance CNC SB block 8 

cylinder 
1110 New GM Performance CNC SB block 8 

cylinder 
1111 New GM Performance CNC SB block 8 

cylinder 
1112 Mopar engine block – x-block 8 cylinder  
1113 Mopar engine block – x-block 8 cylinder  
1114 Mopar engine block – x-block 8 cylinder  
1115 Mopar crank shaft with 3.48 Chevy stroke 

& Chevy rod journal 
1116 Mopar crank shaft with 3.48 Chevy stroke 

& Chevy rod journal 
1117 Mopar crank shaft with 3.48 Chevy stroke 

& Chevy rod journal 
1118 Mopar crank shaft with 3.48 Chevy stroke 

& Chevy rod journal 
1119 Mopar crank shaft with 3.48 Chevy stroke 

& Chevy rod journal 
1120 Mopar crank shaft with 3.48 Chevy stroke 

& Chevy rod journal 
1121 Callies crank shaft 3.48 damaged Chevy 
1122 Raw forged unmachined Chevy  
1123 Callies crank shaft 3.48 damaged Chevy  
1124 Raw forged unmachined Chevy 
1125 Chevy rotating assembly kit (see 

description attached) 
1126 Chevy rotating assembly kit (see 

description attached) 
1127 Chevy rotating assembly kit (see 

description attached) 
1128 Chevy rotating assembly kit (see 

description attached) 
1129 Fluidyne radiator – used 
1130 Fluidyne radiator – used  
1131 Fluidyne radiator – used with oil cooler 
1132 Fluidyne radiator  

1133 Fluidyne radiator – new 
1134 Fluidyne radiator new with oil cooler  
1135 Fluidyne radiator with oil cooler and fan 

assembly – used 
1136 Stef’s dry sump oil tank   
1137 Stef’s dry sump oil tank  
1138 Lot of dry sump tank mounting hardware 
1139 Mixed O’Berg filters/screens/CV remote 

oil filler mounts 
1140 2 ea Fluidyne oil cooler 
1141 4 ea. Oil coolers  
1142 3 ea. Mixed oil coolers 
1143 Oiler cooler with hose assembly  
1144 Oil temperature  control valve kit  
1145 Assorted fuel hose/radiator hoses/ brake 

line tubing  
1146 4 ea. Radiator expansion tanks 
1147 Assorted radiator Caps/ aluminum weld in 

bungs  
1148 16” electric engine fan and mounting 

hardware/ 2 ea 6 blade engine fans  
1149 13 ea. Valve cover breather assembly 
 
1150 Breather tube hoses/ lower radiator hose/ 

lower radiator springs  
1151 Fuel cell assorted hardware  
1152 Mobil 1 oil filter MI-302 8 cases x 6 per 

case 
1153 Mobil 1 oil filter MI-302 8 cases x 6 per 

case 
1154 Installation sheeting assortment 
1155 Brembo carbon brakes, 2 front caliper, 2 

rear / 2 front rotor, 2 rear with hats, pads, 
mounting hardware 

1156 Brembo carbon brakes, 2 front caliper, 2 
rear / 2 front rotor, 2 rear with hats, pads, 
mounting hardware 

 12

http://www.auctionlistservices.com/


 

 Auction Liquidation Services 
PO Box 1216  

Eatontown, NJ 07724 
1-800-563-9740 

www.auctionlistservices.com 
 

Item   Description               Item     Description 
----------------------------------------------------------------------------------------------------------------------------------
1157 Brembo carbon brakes, 2 front calipers, 2 

rear calipers with pads  
1158 Brembo carbon rotor 2 rear, 7 front, 1 hat 
1159 Assorted Brembo caliper mount hardware, 

alum set up rotor 
1160 Brembo carbon brake 2 front caliper, 2 

rear caliper, 2 front rotor hat, 2 rear rotor 
hats, mount hardware 

1161 Brembo 2 front caliper, 2 rear caliper, all 
with brackets 

1162 Brembo carbon 2 front caliper, 2 rear 
caliper, 2 front rotor, 2 rear rotor hats, 
mounting hardware 

1163 Brembo carbon 2 front caliper, 2 rear 
caliper, 2 front rotor, 2 rear rotor hats, 
mount hardware, 2 front mounting 
brackets 

1163A Alcon 2 front calipers with pads  
1164 Carbon metallic brake pads, disc front/rear 
1165 Coleman 6 steel front rotor with hats, 6 

pads 
1166 Coleman 8 steel rear rotor with hats, 5 

additional hats  
1167 Coleman 4 front calipers, 4 rear calipers, 

rotor hat, mounting hardware 
1168 Assorted AP & Wilwood calipers front 

and rear  
1169 Alcon 3 front , 2 rear calipers  
1169A Hurst SCP 3 caliper mounting hardware  
1170 Tilton brake and clutch master cylinder 

assembly 
1171 Tilton brake and clutch master cylinder 

assembly 
1172 Tilton Partial Brake and clutch master 

cylinder assembly 

1173 Assorted brake and clutch pedal and 
mounting hardware  

1174 Brake bias adjusters (CNC) 12 ea. 
1175 13 ea. 1” Tilton master cylinders  
1176 8 ea. 1” Tilton master cylinders  
1177 Assorted Tilton brake and clutch master 

cylinders  
1178 Assorted Tilton master cylinder  rebuild 

kits and hardware 
1179 Assorted Tilton master cylinder reservoir 
1180 SFI 45.1 roll bar padding – 7 pieces 

assorted soft and hard 
1181 Simpson window nets and mounting 

hardware 
1182 Simpson harness seat belt and shoulder 

assortment 
1183 Simpson latch type shoulder and lap belts  
1183A Simpson Lap belt 2 ea /Willians lap 

shoulder belt 1 ea. 
1184 . 
1185 Simpson roof blanket  
1186 Shoulder strap pads, shifter boots, 

mounting hardware, helmet hooks 
1187 Simpson right side head net 
1188 Simpson left side head net 
1189 Simpson right side head net  
1190 Simpson submarine belt  
1191 Battery boxes, safety wire, quick release 

epoxy pin gun & epoxy fire bottle 
1192 Glass beader machine, repair parts  
1193 Door edge trim 
1194 Mixed abrasives and wire wheels 
1194A Unigrip 3/8 Speed air line  
1195 Grinding wheels and mixed abrasives 
1196 Mixed abrasives 

Auction Liquidation Services 

 13

http://www.auctionlistservices.com/


PO Box 1216  
Eatontown, NJ 07724 

1-800-563-9740 
www.auctionlistservices.com 

 
Item   Description               Item     Description 
----------------------------------------------------------------------------------------------------------------------------------
1197 Assorted mixed tapes – foam 

tape/Velcro/duct 
1198 Polish /compounds/ spray paints/ wax – 6 

shelves  
1199 Mixed sealers/ aerosols/ cleaners/ silicon/ 

anti-seize – 6 shelves  
1200 Mixed lubricant./ penetrating  oils/ brake 

cleaners/ STP – 6 shelves  
1200A Assorted buffing pads  
1200B Mixed TX7 6 ea. 2 cases gasket remover 
1200C Exxon 20W-50 motor oil – 4 cases  
1200D Engine degreaser, aero cans – 7 cases 
1200E Engine Brake cleaner, aero can – 9 cases 
1201 Assorted Upper Control Arms Right & 

Left side Kit 1 
1202 Assorted Upper Control Arms Right & 

Left side Kit 3 
1203 Assorted Upper Control Arms Right & 

Left side Kit 5 
1204 Assorted Upper Control Arms Right & 

Left side Kit 7 
1205 Assorted Upper Control Arms Right & 

Left side Kit 9 
1206 Assorted Upper Control Arms Right & 

Left side Kit 11 
1207 Assorted Upper Control Arms Right & 

Left side Kit 13 
1208 Assorted Upper Control Arms Right & 

Left side Kit 2 
1209 Assorted Upper Control Arms Right & 

Left side Kit 4 
1210 Assorted Upper Control Arms Right & 

Left side Kit 6 
1211 Assorted Upper Control Arms Right & 

Left side Kit 8 
1212 Assorted Upper Control Arms Right & 

Left side Kit 10 
1213 Assorted Upper Control Arms Right & 

Left side Kit 12 

1214 Assorted Upper Control Arms Right & 
Left side Kit 14 

1215 Assorted Upper Control Arms Right & 
Left  2 containers kit 15 

1216 Assorted Upper Control Arms Right & 
Left  2 containers kit 16 

1217 Steering Boxes 15 Boxes(see description 
attached to box) 

1218 Steering Boxes 15 Boxes(see description 
attached to box) 

1219 Mopar Engine Kit No.3 (see description 
attached to kit) 2 shelves 

1220 Mopar Engine Kit No.4 (see description 
attached to kit) 2 shelves 

1221 Mopar Engine Kit No.1 (see description 
attached to kit) 2 shelves 

1222 Mopar Engine Kit No.2 (see description 
attached to kit) 2 shelves 

1223 Chevy Engine Kit No.1 (see description 
attached to kit) 2 shelves 

1224 Chevy Engine Kit No.2 (see description 
attached to kit) 2 shelves 

1225 2 boxes 16 ea. Comp Cams roller lifters 
for small block Chevy  

1226 2 Sets 8  per set Carrillo 6” H-Beam 
Connecting Rods  

1227 9 ea. Carrillo 6” H-Beam Connecting Rods 
1228 2 Sets 8 per set Carrillo 6” H-Beam 

Connecting Rods  
1229 1 Set 8 ea. Carrillo 6” H-Beam Connecting 

Rods  
1230 45 ea. Carrillo Rod Bolts 
1231 Bow Tie Block (Chevy Engine Kit) See 

description attached  
1232 Small Block Mopar in-take manifold 
1232A Small Block Mopar in-take manifold 
1232B Small Block Mopar Edelbrock in-take 

manifold  

 14

http://www.auctionlistservices.com/


Auction Liquidation Services 
PO Box 1216  

Eatontown, NJ 07724 
1-800-563-9740 

www.auctionlistservices.com 
 

Item   Description               Item     Description 
----------------------------------------------------------------------------------------------------------------------------------
1233 Small Block Mopar Cast iron cylinder 

Heads 
1234 Small Block Mopar Brodix Alum. 

Cylinder Heads 
1235 Small Block Pontiac Brodix Alum. 

Cylinder Heads 
1236 Small Block Pontiac Brodix Alum. 

Cylinder Heads 
1237 -8 Steel Braided Hose Ends  
1238 -8 AN Fittings  
1239 -10 Steel Braided Hose Ends 
1240 -10 AN Fittings  
1241 -12 Steel Braided Hose Ends  
1242  -12 Steel Braided Hose Ends  
1243 -12 AN Fittings  
1244  -12 AN Fittings 
1245 2 Sets Jessel Rocker Arm Kit Chevy  
 (see description attached) 
1246 2 Sets Jessel Rocker Arm Kit Chevy  
 (see description attached) 
1247 3 Jessel Rocker arm sets  
1248 CV Products Pulley Kit  
1249 CV Products Pulley Kit 
1250 CV Products Pulley Kit 
1251 CV Products Pulley Kit 
1252 CV Products Serpentine Pulley Kit 
1253  -3 Brake Line hose ends and fittings  
1254 -4 Steel Braided hose ends  
1255 -4 AN Fittings  
1256 -6 Steel Braided Hose Ends  
1257 -6 AN Fittings  
1258 -16 Hose Ends and Fittings  
1259 Assorted Pipe Plugs/Pipe Bushings  
1260 -6 High Pressure Hose Ends and Line 
1261 Assorted Push to lock hose ends and -8 

hose  
1262 AeroQuip ProCrimp Model 1380 Start 

Lite Hose Crimper 

1263 4&6 Start Lite Hose Ends  
1264 8 Start Lite Hose Ends  
1265 12 & 10 Start Lite Hose Ends  
1266 16 Start Lite Hose Ends  
1267 4 & 6 Start Lite Hose  
1268  8 & 10 Start Lite Hose  
1269 12 & 16 Start Lite Hose 
1270 16 Start Lite Hose  
1271 Assorted Hose Clamps  
1272 Snap on fractional rethreading set and 

Master Mechanic US 59 pc tap & die 
1273 Master Mechanic Metric 39 pc tap & die 

& Master Mechanic US 59 pc tap & die 
1274  Misc. tap & dies  
1275 Master Mechanic Metric 39 pc tap & die 

& Master Mechanic US 59 pc tap & die 
1276 Master Mechanic Metric 39 pc tap & die 

& Master Mechanic US 59 pc tap & die 
1277 Assorted taps & dies 4-40-7/16” 
1278  Assorted taps & dies ½ - ¾ 
1279 Left hand taps, Tap sockets, rethreading 

drive, screw extractor. 
1280 Lot of assorted size tap & die handles  
1281 Mac Screw Extractor set 
1282 Snap on ¾ drive torque meter 
1283 Snap on 1/2 drive torque meter 
1284 Snap on ½ drive torque meter 
1285  Snap on ¼ drive torque meter 
1286  Snap on ¼ drive torque meter  
1287 Mac ½ drive torque wrench 
1288 Mac ½ drive torque wrench 
1289 Proto 3/8 drive torque wrench 
1290 (1) Dial Caliper, (3) 1” micrometer, (2) 

magnetic bases for dial indicator 
1291 Assorted Large diameter drill bits  
1292 Assorted small diameter drill bits, general 

drill bits, grinding attachment 
1293 Drill Dr. bit sharpener 

 15

http://www.auctionlistservices.com/


   

Auction Liquidation Services 
PO Box 1216  

Eatontown, NJ 07724 
1-800-563-9740 

www.auctionlistservices.com 
 

Item   Description               Item     Description 
----------------------------------------------------------------------------------------------------------------------------------
1294  (1) Case w/fractional drill bits 1/16 – ½, 

 (1) case numbered drill bits 1-60, (1) case 
letter drill bits A-Z 

1295 Beverly Sheer 
1296  ¾ drive ratchet & socket set  
1297 Assorted  large diameter impact sockets 

and ball joint sockets ½ & ¾ drive 
1298 Assorted AN Wrenches, box wrenches & 

ignition wrenches  
1299 Lot of Metric and Standard hex keys  
1300 Lot of punches and chisels 1301 Lot 

Metric wrenches and sockets, 3/8 
combination wrenches and tubing 
wrenches 

1302  Lot ¼ drive ratchet & sockets in case, 3/8 
drive shallow & deep socket set, 3/8 new 
torque wrench 

1303  Lot of grease gun 
1304  Burnz-o-matic torch set  
1305  Lot of face shields, extra shields. Ear 

protectors, goggles 
1306 lot Welding clamps, 6” vise, chalk line 
1307 Milling swivel fixture for cylinder heads 
1308  Storm Vulcan crank shaft polishing 

machine 
1309 V-block fixture for crank or cam shafts  
1310 Parts cleaning brushes & baskets 
1311 Timing chain length checker  
1312 RA Meter – Surface roughness tester 
1313 (2) Mopar & (2) Chevy Honing plates  
1314 Repco valve spring tester 
1315 Box lot (3) Valve spring height 

micrometers, (1) stem height gauge, (1) 
Valve spring caliper 

1316 Box Lot (2) air chisels, valve guide 
cutters, spring seat cutters, chisels 

1317 Box lot (2) cylinder head stands, small air 
die grinder, valve spring compressor valve 
tip remover 

1318 Sioux Vacuum tester  
1319 Rimac Valve Spring tester 
1320 Assorted quick change gear sets NEW 
1321 Assorted quick change gear sets NEW 
1322 Assorted quick change gear sets NEW 
1323 Assorted quick change gear sets NEW 
1324 Assorted quick change gear sets NEW 
1325 Assorted quick change gear sets USED 
1326 Assorted quick change gear sets USED 
1327 Assorted quick change gear sets USED 
1328 Assorted quick change gear sets USED 
1329 Assorted quick change gear sets USED 
1330 Assorted quick change gear sets USED 
1331 Assorted quick change gear sets USED 
1332 Assorted quick change gear sets USED 
1333 Assorted quick change gear sets USED 
1334 Assorted quick change gear sets USED 
1335 Release bearings, clutch forks etc. 

NEW/USED 
1336 Mixed Jerico GN & T-10 4 speed parts 

NEW/USED 
1337 Hurst 4-speed shifters, parts, levers 

NEW/USED 
1338 Assorted Quick change rear parts, hubs 

NEW/USED 
1339 Craftsman Top Tool Chest Empty 
1350 Upper control arm build fixture & Misc. A 

Arm parts 
1351 Recyclite – Program Solvent Recovery 

System – Air Gun cleaner tank 
1352 Sand Blaster 
1353 Gel Coat Paint Gun 

 16

http://www.auctionlistservices.com/


  
Auction Liquidation Services 

PO Box 1216  
Eatontown, NJ 07724 

1-800-563-9740 
www.auctionlistservices.com 

 
Item   Description               Item     Description 
----------------------------------------------------------------------------------------------------------------------------------
1354 Primer Paint Guns (3) Undercoat Air Gun 

(1) 
1355 3 ea DeVilBiss HVLP 
1356 Graco PT2500 Airless Sprayer 
1357 DeVilBiss Suction HVLP Gun 
1358 DeVilBiss Suction HVLP Gun 
1359 DeVilBiss Suction HVLP Gun 
1360 DeVilBiss Suction HVLP Gun NEW 
1361 DeVilBiss Suction HVLP Gun NEW 
1362 DeVilBiss Suction HVLP Gun USED 
1363 DeVilBiss Gravity feed paint gun, Plastic 

body 
1364 Assorted DeVilBiss Suction spray guns, 1 

with cup, 4 without cup 
1365 DeVilBiss NEW JGA510 Suction feed 

gun with cup, 1 ea gravity feed, jet RP gun  
with cup, 1 ea Stewart Warner suction gun 
with cup. 

1366 2 ea DeVilBiss GTI gravity feed spray gun 
with cup 1 ea DeVilBiss touch up spray 
gun  

1367 2 ea Stewart Warner 2 Qt. Agitator 
pressure cup 

1368 2 ea. 2 ½ gallon DeVilBiss pressure pots 
and hoses  

1369 2 ea DeVilBiss 2 quart pressure pots with 
hoses  

1370 Hutchins 6” Vacuum DA Sander with 
Vacuum hose  

1371 Hutchins 6” Vacuum DA Sander with 
Vacuum hose 

1372 Hutchins part 3960 Light weight Sander 
with vacuum hose  

1373 Hutchins part 3960 Light weight Sander 
with vacuum hose  

1374  Hutchins part 3960 Light weight Sander 
with vacuum hose NEW 

1375  Compact tool jitterbug Vacuum sander 
with hose  

1376 Compact long board sander vacuum with 
hose  

1377 Compact 8” DA Vacuum sander with hose  
1378 Compact 6” DA Vacuum sander with 

Vacuum hose  
1379 Hitch 6” DA Vacuum Sander 
1380 Compact Vacuum system portable 110 

Volts  
1381 Vacuum sanding system US Lunch with 

hose   
1382  Heat Lamp 36” 110V  
1383  Heat Lamp 36” 110V 
1384 Heat Lamp 36” 110V 
1385 3M Wall Cabinet with contents  
1386 PPG Wall Cabinet with contents  
1387 PPG Wall Cabinet with contents 
1388 PPG Wall Cabinet with contents 
1389 PPG Wall Cabinet with contents 
1390 Steel work bench on wheels  
1391 Paper and Masking tape machine1392

 Tool Box lower portion roll around  
1393  Paint shaker DEDOES 1 gallon mounted 

on roll around cabinet  
1394 3 ea. DA sand paper holder dispenser  
1395  Safety Storage Cabinet (Flammable) 
1396 Dayton 4Z237B electric winch 115V  6 

amp 
1397 3M Battery operated one man GVP PAPR 

kit powered air purifying resp. with head 
gear 

1398 Fresh Air Hoods  
1399 Assorted spray masks and filters  
1400 Misc. Air Hoses  
1400A JBI Open Spray Booth, Lighted, Exhaust 

system 

 17

http://www.auctionlistservices.com/


 
Auction Liquidation Services 

PO Box 1216  
Eatontown, NJ 07724 

1-800-563-9740 
www.auctionlistservices.com 

 
Item   Description               Item     Description 
----------------------------------------------------------------------------------------------------------------------------------
1401 True Value Master Mechanic Tool Box 

with contents, see tool chest for list of 
tools. 

1402 True Value Master Mechanic Tool Box 
with contents, see tool chest for list of 
tools. 

1403 True Value Master Mechanic Tool Box 
with contents, see tool chest for list of 
tools. 

1404 True Value Master Mechanic Tool Box 
with contents, see tool chest for list of 
tools. 

1405 True Value Master Mechanic Tool Box 
with contents, see tool chest for list of 
tools. 

1406 True Value Master Mechanic Tool Box 
with contents, see tool chest for list of 
tools. 

1407 True Value Master Mechanic Tool Box 
with contents, see tool chest for list of 
tools. 

1408 True Value Master Mechanic Tool Box 
with contents, see tool chest for list of 
tools. 

1409 True Value Master Mechanic Tool Box 
with contents, see tool chest for list of 
tools. 

1410 True Value Master Mechanic Tool Box 
with contents, see tool chest for list of 
tools. 

1411 True Value Master Mechanic Tool Box 
with contents, see tool chest for list of 
tools. 

1412 Trax Master Mechanic Tool Box with 
contents  

1413 True Value Master Mechanic Tool Box 
with contents, see tool chest for list of 
tools. 

1414 Homak Tool Chest no contents 
1415 Steel Work bench with vise  
1416 Steel Work Bench  
1417 Steel work bench with vise  
1418  Box lot of extension cords and drop lights  
1419  Box lot of extension cords and drop lights  
1420 Tool box Master Mechanic no contents  
1421  Box lot of auto roll extension cords  
1422 Trax Master Mechanic tool chest with 

fabricating tools  
1423 Box lot of extension cords   
1424 Master Mechanic 19” Tool Box – 8 pcs. 

By the piece take all 
1425 All Around shop vac   
1426 All Around shop vac   
1427 All Around shop vac   
1428 All Around shop vac    
1429 All Around shop vac   
1430 2 small shop vacs  
1431 Hotsy Hot Steam –Pressure Washer 
1432 Honda 6.5 Pressure Washer 
1433 Clarke Shop Vac  
1434 3 Ladders, (1) 6’ aluminum step, (2) 6’ 

step wood 
1435  4 Shelf cart with contents  
1436  6 Shelf cart with assorted plumbing & 

electrical  
1437 Box Lot assorted valve guide flex hone, 

assorted lifter bore, flex hone guide 
reamers & ball brooches 

1438 Box Lot Valve spring removers and testers  
1439 Box Lot Cam Degreasing Tools and cam 

handel 

 18

http://www.auctionlistservices.com/


1440 Box Lot Assorted balancer pullers and 
power steering pump pulley pullers  

1441 Box Lot Ring Grinders, Ridge Reamers, 
Piston Tools, Sunnen chamfer tool  

Auction Liquidation Services 
PO Box 1216  

Eatontown, NJ 07724 
1-800-563-9740 

www.auctionlistservices.com 
 

Item   Description               Item     Description 
----------------------------------------------------------------------------------------------------------------------------------
1442 Box Lot Assorted Gauges, rod bolt stretch 

gauge, mitsotoyo dial calipers 
1443 Box Lot Electronic Scale  
1444 Box Lot Assorted Carb Stands & Tools  
1445 Box Lot Clutch Alignment Tools  
1446  Barry Grant Weather Station  
1447 Barry Grant Weather Station 
1448  Kinsler Fuel Analysis Kit  
1449  Cam Bearing Installation and Removal Kit  
1450 Box Lot Small Dial Bore Gauge, Bearing 

Chamfering Fixture, Crank Sockets 
Sunnen dial gauge, Stud removers 

 
  
 
  
 
 
 
 
 
 
 
 
 

 
 
 
  
 

 
 

 19

http://www.auctionlistservices.com/

